With GNFB — no load, no zobel and boucherot, no PSU decoupling ,no input HP filter
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With GNFB — zobel and PSU decoupling added
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= Noise floor dropped 5...10dB

’ ‘ ; M‘"’nw "I.""" ﬂ[‘“\‘ \hﬂ‘p‘f'irw')ﬂw \*WW

100KHz




With GNFB — signal ground |

Rser=1 Cpar=0.01

ift added

e tem San

$1m)n 68k

R14
1k9

IRFSE10
nL

vs

NE(D 0.1 {freq)’
aco

35mA

ran 0 11m 1m 10n

istep param V list 0.094 1.333 1.666

R13

R16
sak 2

vz
Te

Reer=1 Cpar=0.01

moise V(out) VS dec 100 .1 1000meg
1ac dec30 1 10001
stran 0 {simtime} {dlytime} {numsampl}

-options plotuinsize
“options numd
param Freq=aktiz
param numeyc:
‘param diveye
m FET=65536

=

stap param prb list -1

w52
e ety
lmoq;mmou
oau]
115mA
M7 52
e
T s [ (el [ s [wes
170 |7 |7 |47 |a72 |47 |ea
ris b mr b et (msa b et [ms)b o (wes
a7, 47 47, 47 s e
Q31 Q1 Q2 Q7
=
25292) 2sc292) 2292} 2sc292) 2sc292h 25292} 2202
Ry Cres TR R SR SR LR
032 022 om oz oz oz om
o>
wa  ows TR ws o < Rso
om Tom Jom Svam Som Som Som ras
27
2a1bie 2ezibie 2smibis e e
Q0 Qs Q11 Qi3 pa (470|470
e e ) e bingeos
P I I I =
rer > [rea > [mes ) [meal [mesb  [re
a7 a7 |42 |42 |72 |47
v
2
2
oall  oall  onl oml oml o4
47 Vi

fune TP() £-1/(1- 1/(2’::(v.)@1°v(x}@z v(x)@J'IKVO@!)t\l(x)@nl(v:)@z)))

Identical as previous sim

T\\

i

Y

100KHzZ

Cprb
ACCER Y 1) ac utoriny




With GNFB — input filter added
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With GNFB — without input filter, speaker load and boucherot added
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With GNFB — without input filter, resistive 6R load instead of speaker load
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Without GNFB — without input filter, resistive 6R load
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